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[ > restart:

> mdot[1]:=1275;
mf[B1]:=0.3;
mf[T1] :=0.25;
mf[X1]:=0.45;
mf[B4]:=0.99;
mf[T4]:=0.01;
mf[T5]:=0.01;
mf[X5]:=0.99;

mdot, = 1275
mfg, =03
mfy; = 0.25
mfy, = 0.45
mfp, = 0.99
mf, = 0.01
mfys = 0.01
mfys = 0.99

> el:=0=(1275*%0.3)-(mdot [2] *mf [B2])- (mdot [3]1*mf[B3]);
€2:=0=(1275*%0.25) - (mdot [2] *mf [T2] )~ (mdot [3]1*mf[T3]);
e3:=0=(1275*0.45)~(mdot [2] *mf [X2] )~ (mdot [3]*mf[X3]);
ed:=0=(mdot [3] *mf [B3] )~ (mdot[4]*0.99);
e5:=0=(mdot [3] *mf[T3]) - (mdot[4]*0.01)~-(mdot[5]1*0.01);
e6:=0=(mdot [3]*mf[X3])-(mdot[51*0.99);
e7:=1=mf [B2] +mf [T2] +mf [X2];
e8:=1=mf[B3]+mf[T3]+mf[X3];
e9:=0=(0.98*mdot [1] *mf [X1]) - (mdot [3]*mf[X3]);
€10:=0=(0.96*mdot [1]*mf [B1])-(mdot[4]*mf[B4]);

el :=0=382.5 — mdot, mfy, — mdot, mfy,
e2 =0 =318.75 — mdot, mf, — mdot, mf,
e3 :=0=1573.75 — mdot, mf,, — mdot, mf,;
e4 =0 = mdot; mf,; — 0.99 mdot,
e =0 = mdot, mf;; - 0.01 mdot, — 0.01 mdot,
e6 =0 = mdot; mf,; ~ 0.99 mdot,
e7 =1 =mfp, + mfr, + mf,,
e8 =1 =mfy, + mfr; + mf,
€9 =0 = 562.2750 — mdot, mf,,
el0:=0=367.200 - 0.99 mdot,




[ » Solution:= '
solve({el,e2,e3,ed,e5,e6,e7,e8,e9,el10}, {mdot[2],mdot[3],mdot[4],md
ot[5],mf[B2] ,mf[B3], mE[T2] ,mf[T3],mE[X2],mf[X3])});

Solution := { mdot, = 567.9545455, mdot, = 370.9090909, mdot, = 938.8636364,
mdot, = 336.1363636, mfy, = 0.5988888889, mf,, = 0.03413793103, mf,, = 0.01000000000,
mfy, = 0.9203448276, mfy, = 0.3911111111, mf,, = 0.04551724138 }
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